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SRR BB RS (ZE=FILH)

{22 B W) e B 0

28 P2 I IR &h R SEROR FERE
i 4 (B/E)

% g [ 6 - 10 7.7-8.7 8.2 =
AEE (mg/) 100 <30 <30 =
B8 E  (me/) 10 40-6.4 5.0 s
WY& E (me/l) 2,000 120 - 746 397 =
WAL & (mg/) 10 <0.5 <0.5 =
s E (mg/l) 0.1 <0.04 <0.04 =
MY ERHEE (ng) 100 <15-15 15 =
HHE (me/) 20 <10 <10 =
MaE  (mg/l) 0.5 <0.3 <0.3 TE
e A E (mg/l) 1 <0.6 <0.6 =
FHEMER] (mg/l) 15 <7 <7 =
EEFEE (mg)) 2,000 | <100-130 112 T
Ak E (mg/) 200 <20 <20 =
M (0) 43 28 - 32 30 s
Y E (mg/) # - - - ;
EEeE

T (mg/l) 2 <0.4 <0.4 =
#H (mg/l) 5 <1 <1 =
#  (mg/l) 0.1 <0.1 <0.1 TE
#&  (mg/l) 1 <0.3 <0.3 =
i (me/l) 2 <0.5-0.8 0.56 =
$ri (mgfl) 2 <1 <1 =
# (mg/l) 5 <0.2 <0.2 =
K (mg/) 0.05 <0.05 <0.05 s
$2  (mgfl) 2 <1 <1 s
R (mg/) 2 <0.4 <0.4 =
¥ (mg/l) 5 <1 <1 &
¥ (mg/) 2 <1 <1 =
BB EEH (ngl) 10 <7.0 <7.0 =
B (mg/) 5 <1 <1 =
# (mg/l) 10 <2 <2 =
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BEE
Aldrin (mg/l) 0.01 <0.01 <0.01 s
BHCS (mg/l) 0.01 <0.01 <0.01 v
AR (mel) 0.01 <0.01 <0.01 &
FEZELEY
REE (mel) 0.1 <0.06 <0.06 &
EHEMELEY
1,1,1- = & 2 J5E (mg/) 0.05 <0.025 <0.025 =
ZEBE -
% S R 4 & (me/) 0.003 < 0.003 < 0.003 s
TBUET 1Y) B # )
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ErREEEHESESE (ZE_=F1H)
28 P2 1 IR GO EHEHE | FERE
HE =) (B/E)

() =+ FaE @

ok (kg/0.5h) 0.58 0.00-0.12 0.02 yos
Z &b (kg/0.5h) 3.86 0.00-1.93 0.32 s
Bl (kg/0.5h) 1.16 0.00-0.16 0.01 =
@ AL &  (kg/0.5h) 0.08 0.00 —0.00 0.00 y=s
ALY

(L= & 18 & 57 &) 7.71 0.54 —2.72 1.54 yss
(kg/0.5h)

A X (kg/0.5h) 0.39 0.00 - 0.10 0.00 =
— & {Efi% (kg/0.5h) 1.93 0.00 - 0.72 0.07 s
(<) H39E ©

AL (kg/day) 9.25 0.12-0.27 0.16 yiss
“ & Ak (kg/day) 46.27 6.86 — 17.87 13.86 pss
il (kg/day) 9.25 0.04-0.78 0.37 =
#Ab& (ke/day) 0.93 0.00 — 0.00 0.00 =
&Y

(L = & 16 & 5t &) 185.06 54.43 — 79.65 72.63 =
(kg/day)

A K (kg/day) 9.25 0.12-0.27 0.16 yiss
— &b bk (kg/day) 46.27 0.49 — 4.89 2.99 =
(A) FHAit

S8 2 1) PR R S TFERE
HEm %) ® GE/I&)

= = A A

?Aé?%cgj B (kefhy | 09 oot =
BNMBALEY

(MEtaE & EEE) 0.73 <0.002 yss
(kg/h)

BE T (LAWR B% 5T &) (kg/h) 1.45 0.081 pss
A E (AT R (ke/h) 0.21 < 0.006 =
R RORALE (ke/h) 0.19 <0.002 s




28 12 il PR FE R TFERE
HEm =) (B/E)
FHESBE B Y:

FHeBGE—BNEER _
(ke/h) 0.0019 < 0.0003 =
FHESBE_H) O:

il (kg/h) 0.0023 < 0.0001 =
FHeBCGE _BNEE _
(ke/h) 0.019 < 0.0020 =
7 (kg/h) 0.0019 < 0.0001 v
TEEFE (ngh) 2,891 29 =
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S8 2 i PR R &R SEESR FaRE
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F—Ea
B lig 5 (7K) (%1&8@@?) 12.2-125 12.3 v
E#S H o7tk (%) (Eaﬂ;gﬁg) 68 — 84 75 s
EEeB
#% (ppm) 0.5 <0.5 <0.5 =
7K (ppm) 0.1 <0.02 <0.02 =
P48 & (ppm) 10 <0.5 <0.5 =
#  (ppm) <0.5-3.9 0.84
#2  (ppm) <0.5 <0.5
#i (ppm) <1.0-3.4 1.2
#  (ppm) <0.5-0.76 0.51
G B S = 3= o
W (ppm) 25 <25-6.8 3.1 s
# (ppm) 20 <1 <1 =
W% (ppm) 10 <5 <5 s
AL E (ppm) 10 <2-24 2.0 v
1LY (ppm) 5 <5 <5 =
£
HEUHAERY S o
£ (ppm) 5,000 <15 <15 TE
A HXKEHEE =
(ppm) 10 <5 <5 TE
A1 E M EE =
(ppm) 2 <2 <2 =
% & A (ppm) 1 <1 <1 =
TCDD (ITEF %) . < < 3

(ppb)




